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Al AI A3 Il 12 13
P 19.39 27.55 28.06 8.67 9.18 7.14
Total 38 54 55 17 18 14
P ratio P=0.75 P =0.25
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ACTIVE - Al: Aaman 19.39%
- A2: damanlaon 27.55%
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Productivity’s Active ratio = 0.75
INACTIVE - 11; 5987949 8.67%
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Productivity’s Inactive ratio = 0.25
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P 21.77 27.65 26.47 9.41 8.82 5.88
Total 37 47 45 16 15 10
P ratio P=0.76 P=024
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Productivity’s Active ratio = .76
INACTIVE - 11: SeUAMANUUY 9.41%
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= 13: Wn 5.88 %
Productivity’s Inactive ratio = 0.24
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A, A, A, 1, 1, 1,
P 20.25 20.86 23.31 9.20 16.56 7.98
Total 33 34 38 15 27 13
P ratio P=0.64 P=0.36
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ACTIVE - Al: Fudaju 20.25%
- A2: ijuasluuuy 20.86%
- A3: daneyfu 23.31%
Productivity’s Active ratio = (.64
INACTIVE - 1t: sosnuniuaslunszue  9.20%
- 12: 503U031)y 16.56%
- 13: lfenenlunism 7.89 %
Productivity’s Inactive ratio = 0.36
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